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b3-ch3—1.R ; ;{—matrml:cﬁ,l 4/745,6,2,9,9,7,3,4,6,1,5,8,4) ,nrow=4 ,ncol=4,byrow=T)

a<-matrix(c(3,1,7,5,6,2,9,9,7.3,4,6,1,5,8,4),nrow=4 (.1 [,2] [.3] [.4]
[1,] 3 1 7 5
,ncol=4,byrow=T) [2.] G 2 9 9
EN 7 3 4 6
a [4,] 1 5 8 4
b<—ma’[l’iX(C(5,9,7,3,6,8,8,5,4,6,2,7),nrOW=4,nCO|=3 > E{_matr-i XI:CI:S +v9,7,3,6,8,8,5,4,06,2, ?j S irow=4 ncol=3 !byer=T}
S
,.byrow=T) [,1] [,21 [.3]
b [1.] 5 9
[z,] 3 4]
amb<-a%*%b [3,] 8 3
amb [4.] 6 2

toma<-t(b)%*%a = amb<-a%*%h
= amb

= tThma<-t(b)%*%a

L0 02 63T g

ainv<-solve(a) [1,] 104 78 92 [1,] 95 65 142
[2,] 162 129 157 [2.] 100 46 153

[3,] 104 70 193

tbma

ainv [2,] 112 113 131
iden<—a%=*%ainv [4.] 108 87 107

iden > ainv=-solve(a)
= &inv

[.1] [.2] [,3] [.4]
[L,] ©0.3677966 -0.48305085 0.33050847 -0.118644068
[2,] -0.3303085 0.04237288 0.07627119 0.203389831
[3,] 0.5762712 -0.355593220 0.05932203 -0.008474576
[4,] -0.8813559 0.77966102 -0.29661017 0.042372881

> jden=-a%¥*%Bainv
= iden

[,1]1 [.2] [,3] [.4]
[1,] 1.000000e+00 -4.4408%92e-16 0.000000e+00 -2.775558e-17
[2,] &8.881784e-16 1.000000e+00 -4.440892e-16 -5.551115e-17
[3,] 0.000000e+00 0.000000e+00 1.000000e+00 O.000000e+00
[4,] 0.000000e+00 0.000000e+00 0.000000e+00 1.000000e+00




= A<-matrix(c(2,3,0,3.,0,-2,1,2,1),nrow=3,ncol=3,byrow=T2}
b3-ch3-1.R = A
[.11 [,2]1 [,3]
Ol Al [1,] 2 3 0
[2,] 3 0 -2
[3,] 1 2 1

A<-matrix(c(2,3,0,3,0,-2,1,2,1),nrow=3,ncol=3,byr

ow=T) > He-matrix(c(24,53,17),.nrow=3,ncol=1)
A = H
[.1]

H<-matrix(c(24,5,17),nrow=3,ncol=1) E;,% 3,;
H (3,0 17
Ainv<-solve(A)
Ainv = Alnv=-salve(a)
X=Ainv%*%H > Ainv

[,1] [.2] [.31
X [1,] -0.5714286 0.4285714 0.8571429

[2,] ©0.7142857 -0.2857143 -0.5714286
[3,] -0.8571429 0.1428571 1.2857143

= X=AT nviETEH
4

[,1]
[1,] 3
[2,] 6
[3,] 2




